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644 F, =—qa, FCZEQG, MA:—EqaZ’ 0, =——qa, , MD:_gqa ,
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M.=-=qd*, x, =—, M,(x,)=—qa’, M, =——qad’
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645 Fy=2qa, by =0y =—qa, Fo =2qa, M, =—qa’,My =2qa’, My, =—qa’,
MC _0’ Xm =750 Mb(xm) C]az
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646 F,=-=qa,Fy="—qa,F,=—qa, O.=—qa, My =-5qa’, M, =——qa’,
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(M(;)Lzzqaz,(MG )Dzzqaz, M, =—an2, X, =Z, Mb(xm)ziqaz.

647 Fo,=Qp=3kN, Fc=15kN, M, =-24 kN-m, M. =—12 kN-m,
(M), =-18 kN-m, (M,) =-6 kN-m, x, =1m, M, (x,)=1,5kN-m.

648 F,=10kN,F, =14kN,M,=—-10kN-m, M, =—-1kN-m, (M) =10kN-m,
(M), =20kN-m, x,=1,89 m (desno od D), M,(x,)=29,03kN-m .

649 F,=8kN, F,=16kN, M, =—16kN-m, M, =7,5kN-m,
x,,=3,77m, M,(x,)=20,11kN-m, x_,=0,53 m, M,(x,,)=851kN-m.

m2
650 F,=20kN, F; =28kN, M, =-16 kN-m, My, =—20kN-m, M, =-8 kN -m,
O.=—-0,=—4kN, x,=2,37 m (desno od A), M, (x,)=4,35kN-m.

6.4 OKVIRNI NOSACI

6.51 F,=0984kN, Fy =-3kN, Fp,=4,266kN. M, = M, = M, = M, =0,
M, =-4524kN-m, M, =-6kN-m, (M), =6kN-m,
(M), =-6,75 kN-m, (M) =-0,75 kN-m,
X,=0,656m, M, (x,)=-42kN-m.

6.52 F,, =-0,5qa, F,, =1,5qa, Fy =qa, xn,=a, M,(x,)=2qa’,
1 1
Mg =M, =M;=0, (MH)g =qa’, (MH)d :Eqaz, (MH)D :Eqaz,
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M, :Eqa , M, =5qa , M, =qa".0

653 Fyy =4kN, F,, =11kN, F, =-5kN, (M), =—8kN-m, (M.) =-6kNm,
(M), ==14kN-m, M}, =-22kN-m, (M) =-12kN-m, (M) =-18 kN:m,
M, =-8kN-m, M, =My =M, =0.



